logarithm. V , V,-Daten u) = (A = 550) / 50 logarithm. D, D -Daten

= -0,35[-u

log V. = (logD,+ logPp)/2 logD, = -0,35L)\~u ]2 log =(log +logPy)/2 log
log\V, =logV +0,31 logPo = —0,35,~Us7( logD, =logD +0,126  logP, = —0,35L,~ usm]
log [Vo, V', Do, Pol Adaptation: A, =555 log[Ds, D, ,Pol Adaptation: A, =540
570 570
1,0 757 1,0 '—/
Schwelle Schwelle
S=0.01 S=0.01

0,57

0,0t-30 -10 1,0 3,0 b +-30 -10 1,0
400 500 600 700 /nm ( 500 600 700A/nm

DoPo->UalUo ZG791-1R YoGo->DaDo ZG791-2R
logarithm. P, Po-Daten u, = (\ — 550) / 50 logarithm. =, -Daten uy, =\ -550)/5
logP. = (logDy+log  )/2 logh,=-0,35u)\—u 13 logt- =(log ' +log )2log =-0,35u)\-u ]
logPo = logP + 0,12 log =-0,35u,-u ] logC.=log +0,89  log =-0,35u,-u ]
log [Po, P, Do, Adaptation: A, =570 log[C, &, Adaptation: A =520

570
1,0

{3,0 uy

Schwelle
01

Schwelle
=0.01

0,57

0,0t =30 -10 1,0 3,0 i +-30 -10 1,0
400 [S10[0) 700A/nm 400 500 600 700A/nm
DoOo->YaYo ZG791-3R ToOo_GaGo ZG791-4R
logarithm. -Daten uy = (A — 550) / 50 logarithm. ,  -Daten uy=@A-550)/5
log . = (log  +logPp)/2 log = =-0,35\-u ]2 log =(log ' +logPy)/2 log =-0,35u)\-u ]
log-, =log® + 0 35 logPo = —0,35U)\~Us7 log =log + 0 59 logPo = —-0,35u)\~Us7q
log[, Adaptation: A, =520 log[ , ., Adaptation: Ap =520

3,0 uy

1,0 570 1,0 570
T / Schwelle T Schwelle
0,51 \ 0,51 / \
0,01 =3.0 —1 0 3,0 1 73 0 —1,0 3,0 i
200500 550600 ___700Anm 200 500 550600 ___700Mnm

ZG791-5R ToPo->GaGo ZG791-6R
-Daten uy = (A — 550) / 5% logarithm. -, © -Daten uy = (A —550) / 502
log =(log  +logb.)/2log  =-0,35u)\-u log - =(log  +logPg)/2 log  =-0,350\~-u ]2
log =log +0,35 logh, = —0,35U\—u ] log =log™ +0,35 logPo = —0,35L)~Us7q
log[ ~, , ., Adaptation: A, =490 log[©, &, ,Po] Adaptation: A, =520
5/

Schwelle
S=0.01

Schwelle
S=0.01

0030 -10 00 10 304 _ : 0 30
400 500 600 700\ /nm ( ( ( 700 /nm

ToDo->CaCo ZG791-7R BoJo->MaMo ZG791-8R




